Combiné douche/laveur d'yeux non fourni

EU-9037

Rideau + tringle pour douche de sécurité

CARACTERISTIQUES
|

Le produit EU-9037 permet aux personnes qui utilisent le
matériel d’'urgence (ou matériel de sécurité) de retirer leurs
vétements contaminés en toute intimité.

Facile a installer sur du matériel neuf ou déja installé, ce
rideau de douche en TYVEK® jaune est congu pour étre
utilisé sur les douches d’urgence horizontales ou sur les
combinés douche / laveurs d'yeux.

Un balayage rapide de la main des deux cétés suffit pour
fermer le rideau douche.

La durabilité est assurée par la tringle a rideau résistante a la
corrosion.

Le confinement partiel de I'eau est assuré par le rideau, ce
qui aide a minimiser le risque d’endommagement de
I’équipement.

Une blouse pour couvrir la personne aprés la douche est
incluse dans la poche du rideau.

Dimensions :
Diamétre de la tringle a rideau circulaire : 120,6 cm
Longueur du rideau : 198,1 cm

PRODUITS COMPATIBLES
|

EU-8200CRP EU-8327

EU-8330 EU-8300CRP
EU-8300.157-AXION EU-8309CRP
EU-8226 EU-8346
EU-8300-AXION EU-8300.157
EU-8346CRP EU-8327CRP-AXION
EU-8225CRP EU-8300FPCRP-AXION
EU-8327FP EU-8300CRP-AXION
EU-8327FPCRP EU-8309PCP
EU-8320CRP EU-8300.158
EU-8300 EU-8200WC
EU-8325 EU-8335
EU-8335-AXION EU-8300.158CRP
EU-8300.157CRP-AXION EU-8225
EU-8327FPCRP-AXION EU-8327CRP
EU-8123HPCP EU-8347-AXION
EU-8330-AXION EU-8309
EU-8320CRP-AXION EU-8320

EU-8317 EU-8317-AXION
EU-8200 EU-8327-AXION

EU-8300.157CRP
EU-8300FPCRP

EU-8327FP-AXION

: Les améliorations continues du produit font que les spécifications peuvent étre modifiées sans préavis. Document et photos non contractuelles.

10 février 2023 - Avis de non-responsabilité

Date de révision du document :

Retrouvez les produits Haws et Comimex sur www.anox.fr
Pour plus de renseignements, n’hésitez pas a nous contacter au 01 44 25 03 90 ou au +33 1 44 25 03 90

1/4


https://www.anox.fr/fr/550-haws-france
https://www.anox.fr/fr/
https://www.anox.fr/fr/jolisearch?s=EU-9037

DIMENSIONS

'S$9||2N30eJ3U0D UOU sojoyd 39 JUBWND0Q “SIAeId Sues SayIpow 2439 JuaAnad suonedydads sa| anb Juoy INpold Np SaNUIRUOD SUoIjeIolPWE S : d}|IGesuodsal-uou ap SIAY - £20¢ J91JAD) 0T © JUSWNDOP Np UOISIAI Bp d3eq

'|os np snssap-ne (ww ggtz) seonod 96 & (W £87) ,, 28 P 9419 Jop
ayonop ap sawwod e| ap Jnainey e| anb aypads ISNY SWJou e : 910N

|
(snpoui uou) 0 — (snpouj uou) ousbuan,p
9|ejuozioy aouaban,p oS a41e|N20 JndAe| / ayosnop
BUdNOp dun Jns ||eisul nespry 2UIqWIOD UN JNSs 9||ejsul neapry
N\

7 NNV TNV TNV TNV TV ;

UTNVINV TNV TV

Wwzeg
.08
Wwizeyg
.08
(Wwwgeyz — wwegnz)
(.96 — .28)
I“\.I ‘
_ e e === I w\ _ 1 z _
[~——
N\ ww/sy wwi/ 0z
17 NIA-.8l 2/ L= L¥9
wwee 1 |- anw

NIN, L

2/4

Retrouvez les produits Haws et Comimex sur www.anox.fr
Pour plus de renseignements, n’hésitez pas a nous contacter au 01 44 25 03 90 ou au +33 1 44 25 03 90



https://www.anox.fr/fr/

REPARTITION DES PIECES

Configuration d’installation
optionnelle (monté sur le coté)

S~ T fﬁ\ La douche d’urgence est P
présentée pour une meilleure
compréhension (non incluse)
—
o

ATATAY

AR
N° Descriptions
1 Boulon en U 5/16-18 (2 piéces)
2 Attache (2 pieces)
3 Bloc avec fente (2 pieces)
4 Ecrou 5/16-18 hexagonal (4 piéces)
5 Rondelle 5/16” (4 pieces)
6 Demi cercle (2 piéces)
7 Vis 3/8-24 X 5/8" (2 piéces)
8 Ecrou 3/8-24 (2 piéces)
9 Rideau EU-SP-9037-CURTAIN (1 piéce)
10 Clips (16 pieces)
11 Blouse (1 piéce)
12 Instructions d’installation (1 piéce)

Date de révision du document : 10 février 2023 - Avis de non-responsabilité : Les améliorations continues du produit font que les spécifications peuvent étre modifiées sans préavis. Document et photos non contractuelles.

Retrouvez les produits Haws et Comimex sur www.anox.fr
Pour plus de renseignements, n’hésitez pas a nous contacter au 01 44 25 03 90 ou au +33 1 44 25 03 90

3/4


https://www.anox.fr/fr/

GARANTIE
|

HAWS® warrants that all of its products are guaranteed against defective material or poor workmanship for a period of one year from
date of shipment.

HAWS liability under this warranty shall be discharged by furnishing without charge F.0.B. HAWS Factory any goods, or part

thereof, which shall appear to the Company upon inspection to be of defective material or not of first class workmanship,

provided that claim is made in writing to company within a reasonable period after receipt of the product. Where claims for defects

are made, the defective part or parts shall be delivered to the Company, prepaid, for inspection. HAWS will not be liable for the cost

of repairs, alterations or replacements, or for any expense connected therewith made by the owner or his agents, except upon written
authority from HAWS, Sparks, Nevada.

HAWS will not be liable for any damages caused by defective materials or poor workmanship, except for replacements, as

provided above.

Buyer agrees that Haws has made no other warranties either expressed or implied in addition to those above stated, except that of title
with respect to any of the products or equipment sold hereunder and that HAWS shall not be liable for general, special, or consequential
damages claimed to arise under the contract of sale.

The emergency equipment manufactured by HAWS is warranted to function if installation and maintenance instructions provided are
adhered to. The units also must be used for he purpose, which they were intended. This product is intended to supplement first-aid treat-
ment.

Due to widely varying conditions HAWS cannot guarantee that the use of this emergency equipment will prevent serious injury or the
aggravation of existing or prior injuries.

NO OTHER WARRANTIES EXPRESSED OR IMPLIED ARE AUTHORIZED, PROVIDED OR GIVEN BY HAWS.

INSTRUCTIONS POUR L'INSTALLATION
|

RECOMMENDED TOOL:
6" crescent wrench

LOCATION OF UNIT:
The Model EU-9037 Modesty Curtain is designed to be used with all makes of free standing and wall mounted emergency showers.

INSTALLATION PROCEDURE:

Refer to installation drawing to clarify installation.

Steps 1-3 refer to the Installation Drawing.

Check parts lists to insure all required parts are included.

FOR FREE STANDING AND WALL MOUNTED EMERGENCY SHOWERS:

STEP ONE:

Place V block (items 3) on the above overhead 1”.

Then put on U bolt (item 1) over the pipe.

Place the two center pieces together into the V-block notch (as shown on drawing on page two).
Use the clamp (item 2), washers (item 5) and nuts (item 4) to hold the loop.

Do not tighten the nuts.

STEP TWO:
Assemble the second U bolt/V block assembly according to the instructions in step one.
Check the drawing on page one for proper position of the curtain and tighten securely.

STEP THREE:

Insert clips (item 11) into the loops (item 6) and attach the curtain (item 9) by making sure that the pockets are in the inside.
Insert one modesty gown in each pocket.

Test the closing and opening of the curtain to ensure that it functions properly.

Retrouvez les produits Haws et Comimex sur www.anox.fr
Pour plus de renseignements, n’hésitez pas a nous contacter au 01 44 25 03 90 ou au +33 1 44 25 03 90

4/4

: Les améliorations continues du produit font que les spécifications peuvent étre modifiées sans préavis. Document et photos non contractuelles.

10 février 2023 - Avis de non-responsabilité

Date de révision du document :


https://www.anox.fr/fr/

	Signet 1
	Signet 2
	Signet 3

